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QUESTION 1
When applying the Service Loose Coupling design principle, we want to the
coupling between the service contract and service consumers and the coupling of

the service contract to its underlying logic.
Select the correct answer.

A. reduce, reduce

B. reduce, increase

C. increase, reduce

D. increase, increase

Correct Answer: A

QUESTION 2

As the quantity of services in service inventories increase, the potential for service compositions to become larger and
more complex increases also. Select the correct answer.

A. True
B. False

Correct Answer: A

QUESTION 3

Services with tend to be more . Select the correct answer.

A. a stateful context, more stateless
B. an agnostic context, reusable

C. a non-agnostic context, reusable
D. None of the above.

Correct Answer: B

QUESTION 4

The decoupling of a service contract from the service\\'s underlying implementation results in a(n)
in the service\\'s level of abstraction because service implementation
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details helps prevent service consumers from being designed to indirectly couple to the underlying service
implementation. Select the correct answer.

A. increase, hiding
B. increase, publishing
C. decrease, hiding
D. decrease, publishing

Correct Answer: A

QUESTION 5
Which of the following statements is false? Select the correct answer.
A. A sub-controller capability is responsible for composing nested composition logic.

B. A sub-controller capability is responsible for composing other service capabilities.

C. A sub-controller capability composes other service capabilities while it itself is also composed by other service

capabilities.
D. A sub-controller can only compose other service capabilities but it cannot itself be composed.

Correct Answer: D
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